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e OO DODO20000O0O0O00OOOULODOO 2000
0000000000 1000000000 (MOo0ODOd
Oo0o0ooooooon)

oood:s;

Si= Y (x—m;)(x — m;)’

reX;

OO0oO0oodd: Sy
Sw=51+S%= > X (x — m;)(x —m,;)"

1=12 L X

Oooooood: Sg

nin
Sp = _EQni(mi—m)(mi—m)T = ;L 2(m,l—?ng)('ml—?ng)T

e 0000000 DIO0D0N0DOO: A y=Ax
e 0000 DDODDDOOD:S,y 000000000 : Sp

gW == 31 —|—,§'2 == Z Z (y—mi)Q == 7115%4—7125'% = ATSWA
i=1,2 ye);
Sp= 3 ni(rin; —m)? = "2y — ing)® = ATSpA

1=1,2 n

e 1000000000 DN (0000000000 ONNOON
0oQ)

o SB . nins9 (ml — m2)2 . ATSBA

A) =2 _
Ts(4) S n nor+tnesd  ATSpA

ggoooog )



Juoboguod

e J5(A)DDDO: Sy=/00000 Szp0000
e Lagrange [ [
J(A) = ATSpA — NATSyA - 1)

0.J(A)

e Sy 0000
(St Sp — AI)A =0

e SSp0 000000 NOOOO
max{Js(A)} = N\
JsO0O0OO0O0O0AQDODODOOOOOOOOO0O00O00

ggoooog



KLOOoooooog

o KL OO
- 000000000000000000000000
00000000000000000000000
- 0000000000000000000
- 000000000 (@O0000)0000

e IO ONO

—gogbooobooooooboooboobobooood
—gobougbouooot

e JUUDUOUOL KLUOOOOLUOOOWO

—godoboodboboodgdooodgoooogon
Jooooooboooboooboooboouoboogond
Jooodoogboogoogn

- 00000000 (ObOoDOO0o0O0)0o0b0ooDoOoDoon
Jooodoodgboogboougbogn

ggoooog



